ex: 1 Prove
$$\frac{1}{\cos x} + \frac{\cos x}{\sin x}$$

$$= \frac{\sin^2 x}{\cos x \sin x} + \frac{\cos^2 x}{\cos x \sin x}$$

$$= \frac{\sin^2 x + \cos^2 x}{\cos x \sin x}$$

$$= \frac{1}{\cos x \sin x}$$

$$= \frac{1}{\cos x \sin x}$$

$$= \sec x \csc x$$

$$= \sec x \csc x$$

$$\frac{1}{secx} + \frac{1}{secx} = 2 \cos 4x \csc x$$

$$= \frac{secx + 1 + secx - 1}{(secx - 1)(secx + 1)}$$

$$= \frac{2 secx}{sec^2 x - 1}$$

$$= \frac{2 secx}{+ an^2 x}$$

$$= 2 secx \cdot \frac{1}{+ an^2 x}$$

$$= 2 \cdot \frac{1}{sosx} \cdot \frac{\cos x}{sin^2 x}$$

$$= 2 \cdot \frac{\cos x}{sin x \cdot sin x}$$

$$= 2 \cdot \frac{\cos x}{sin x} \cdot \frac{1}{sin x}$$

= 2 cotx · cscx

3. prove
$$\frac{a^2 - b^2 = (a-b)(a+b)}{1 + cscu} = \cot u \left(\frac{\sec u - \tan u}{\cos u} \right)$$

$$= \frac{\cos^2 x - 1}{\sin u} \left(\frac{\cos u}{\cos u} \right) \frac{1}{\cos u} \left(\frac{1}{\cos u} - \frac{\sin u}{\cos u} \right)$$

Notes Page 1

$$= \frac{\cos^2 x - 1}{1 + \csc u}$$

$$= \frac{1}{\sin x} - 1$$

$$= \frac{\cos u}{\sin u} \left(\frac{1}{\cos u} - \frac{\sin u}{\cos u} \right)$$

$$= \cot u \left(\sec u - \tan u \right)$$



youtry ... Kinda ... -

$$\frac{1-\sin x}{1-\sin x} = \frac{1+\sin x}{\cos x}$$

$$= \frac{\cos x(1+\sin x)}{(1-\sin x)(1+\sin x)}$$

$$= \frac{\cos x(1+\sin x)}{1-\sin^2 x}$$

$$= \frac{\cos x(1+\sin x)}{\cos^2 x}$$

 $(-\sin^2 x)$ $a^2 - b^2 = (a-b)(a+b)$